Bid Rfq 160593 Num 101-25 Print Shop Paper and Supplies

Auction ACTIVE
Status

4MO-Minimum order quantities too restrictive 1NL-Not low when unit price is calculated 4BV-Best overall value for this group of items

*CONFIDENTIAL

		*CONFIDENTIAL										
Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price	Min Release			
									Amount			
1	N	4МО	Velum Bristol, 8 ½ x 11, white 67#	10	CS	ODP BUSINESS SOLUTIONS LLC	6.19	61.90	60.00			
	Υ					*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	52.76	527.60				
	N					CENTRAL NATIONAL	62.50	625.00				
2	² N	4MO	Velum Bristol, 8 ½ x 11, various colors 67#	10	CS	GOTTESMAN INC ODP BUSINESS	6.40	64.00	60.00			
						SOLUTIONS LLC						
	Υ					*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	58.08					
	N					CENTRAL NATIONAL GOTTESMAN INC	64.90	649.00				
3	Y		Velum Bristol, 11 x 17, white 67#	45	CS	*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	60.48	2,721.60				
	N					CENTRAL NATIONAL GOTTESMAN INC	67.00	3,015.00				
4	Υ		Velum Bristol, 11 x 17, various colors 67#	10	CS	*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	60.78	607.80				
	N					CENTRAL NATIONAL GOTTESMAN INC	68.50	685.00				
5	Y		Bond, 11 x 17, White 20#	10	CS	ODP BUSINESS	35.32	353.20	60.00			
	N					*WESTERN BRW PAPER						
						COMPANY INC		544.00				
6	N Y		Color Bond, 11 x 17, various colors 20#	15	CS	CLAMPITT PAPER CO ODP BUSINESS	51.18					
	N N		Color 55/14, 22 x 27, 141/045 00/015 20/1			SOLUTIONS LLC *WESTERN BRW PAPER	11.13	100.33	00.00			
	IN					COMPANY INC						
	N		Color Dond 9 1/ v 11 various colors 20#	10	CS	CLAMPITT PAPER CO	79.17					
,	' Y		Color Bond, 8 ½ x 11, various colors 20#	10	CS	ODP BUSINESS SOLUTIONS LLC	5.11	51.10	60.00			
	N					*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	73.71	737.10				
8	Y		Color Bond, 8 ½ x 14, various colors 20#	3	CS	ODP BUSINESS SOLUTIONS LLC	7.08	21.24	60.00			
	N					*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	100.71	302.13				
9	Y		Astrobright or equivalent,8 ½ x 11, various colors 60#	40	CS	*WESTERN BRW PAPER COMPANY INC						
	N					CLAMPITT PAPER CO	142.75	5,710.00				
	N					CENTRAL NATIONAL	167.00	6,680.00				
10	Y		Astrobright or equivalent, 11 x 17, various colors 60#	30	CS	GOTTESMAN INC *WESTERN BRW PAPER						
						COMPANY INC						
	N					CLAMPITT PAPER CO CENTRAL NATIONAL	167.09 169.20					
	N					GOTTESMAN INC						
11	N	4MO	Astrobright Cover or equivalent, 8 ½ x 11, various colors 65#	10	CS	ODP BUSINESS SOLUTIONS LLC	8.08	80.80	60.00			
	Υ					*WESTERN BRW PAPER						
	N					COMPANY INC CLAMPITT PAPER CO	113.13	1,131.30				
	1	I .	1	1	1		1	1				

	N.				I	CENTRAL NATIONAL	134.00	1,340.00	
	N					GOTTESMAN INC	154.00	1,540.00	
12	Υ		Astrobright Cover or equivalent, 11 x 17, various colors 65#	5	CS	*WESTERN BRW PAPER COMPANY INC			
	N		05#			CLAMPITT PAPER CO	113.11	565.55	
13			Astrobright Cover or equivalent, 23 x 35, various colors	10	CS	*WESTERN BRW PAPER			
	-		65#			COMPANY INC			
	N					CLAMPITT PAPER CO	283.88	2,838.80	
	N					CENTRAL NATIONAL GOTTESMAN INC	288.00	2,880.00	
14	Υ		Vellum Bristol Cover, White, 23 x 35 67#	50	CS	CENTRAL NATIONAL	134.50	6,725.00	
						GOTTESMAN INC	472.40	0.500.00	
	N					CLAMPITT PAPER CO	172.18	8,609.00	
	N					*WESTERN BRW PAPER COMPANY INC			
15	Υ		Fluorescent or ultra-color crack-n-peel, 8 ½ x 11,	2	CS	*WESTERN BRW PAPER			
						COMPANY INC CLAMPITT PAPER CO	518.98	1,037.96	
16	N		Accent Opaque, or equivalent, 8 ½ x 11, white 60#	2	cs	*WESTERN BRW PAPER	310.50	1,037.30	
	T		necent opaque, or equivalent, o /1 x 11, mine oon	_		COMPANY INC			
	N					CLAMPITT PAPER CO	76.51	153.02	
17	Υ		Accent Opaque, or equivalent, 11 x 17, white 60#	2	CS	*WESTERN BRW PAPER			
	N					COMPANY INC CLAMPITT PAPER CO	81.41	162.82	
18		4MO	Bright White 8 1/2 x 11, linen cover 80#	2	CS	ODP BUSINESS	10.83	21.66	60
						SOLUTIONS LLC			
	Υ					CLAMPITT PAPER CO	223.98	447.96	
19	Υ		Bright White 11 x 17, linen text 70#	2	CS	CLAMPITT PAPER CO	129.81	259.62	
20	Υ		Carnival, 23" X 35", Smooth Cover white 100#	2	CS	CLAMPITT PAPER CO	746.18	1,492.36	
21	Υ		Carnival, 23" X 35", Smooth Coverwhite 80#	2	CS	CLAMPITT PAPER CO	396.51	793.02	
22	Υ		Linen Text, 11 x 17, White 70#	2	CS	CLAMPITT PAPER CO	129.81	259.62	
23	N	1NL	White, offset, 23 x35 70#	10	SD	CLAMPITT PAPER CO	178.29	1,782.90	
	Υ					*WESTERN BRW PAPER			
						COMPANY INC CENTRAL NATIONAL	1,106.00	11,060.00	
	N					GOTTESMAN INC	1,100.00	11,000.00	
25	Υ		Domtar-Cougar 98 Brightness, 8 ½ x 11, Cover 80#	80	CS	CLAMPITT PAPER CO	79.30	6,344.00	
	N					*WESTERN BRW PAPER			
	IN					COMPANY INC			
26	Υ		Domtar-Cougar 98 Brightness, 8 ½ x 11, Text 70#	5	CS	CLAMPITT PAPER CO	71.48	357.40	
	N					*WESTERN BRW PAPER			
						COMPANY INC			
27	Υ		Domtar-Cougar 98 Brightness, 8 ½ x 11, Cover 100#	2	CS	CLAMPITT PAPER CO	76.18	152.36	
	N					*WESTERN BRW PAPER			
						COMPANY INC			
28	Υ		#10 Envelope, Domtar-Cougar 98 Brightness	2	CS	*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	118.53	237.06	
29		1NL	94 Bright Digital Gloss Cover,12 x 18 80#	40	CS	CLAMPITT PAPER CO	22.33	893.20	
						CENTRAL MATIONAL	42.20	1 729 00	
	N					CENTRAL NATIONAL GOTTESMAN INC	43.20	1,728.00	
	Υ					*WESTERN BRW PAPER			
30	NI.	1811	94 Bright White Digital Gloss Cover, 100l#, 12" x 18"	40	CS	COMPANY INC CLAMPITT PAPER CO	28.05	1,122.00	
		1NL	5 . 5 . 5 . 5 . 5 . 5 . 5 . 5 . 5 . 5 .	40	-				
	N					CENTRAL NATIONAL GOTTESMAN INC	54.50	2,180.00	
	Υ					*WESTERN BRW PAPER			
24		4511	Digital Gloss Cover, 11 x 17 80#	_	CS	COMPANY INC CLAMPITT PAPER CO	58.82	117.64	
31		1NL	Digital Gloss Covel, 11 x 1/ 60#	2	LG	*WESTERN BRW PAPER	36.82	117.64	
	Υ					COMPANY INC			
32	Υ		Digital Gloss Text, 8 ½ x 11 80#	5	CS	CLAMPITT PAPER CO	66.77	333.85	
	N					CENTRAL NATIONAL	83.20	416.00	
						GOTTESMAN INC			
33	Υ		Digital Gloss Text, 14.33 x 20.5 80#	1,000	CS	CLAMPITT PAPER CO	2,257.22	2,257,220.00	
	N	1NL	Gloss Text, 11 x 17 80#	160	CC	CLAMPITT PAPER CO	61.66	9,865.60	

	Υ					*WESTERN BRW PAPER			
35	N	1NL	Gloss Text, 12 x 18 80#	10	cs	COMPANY INC CLAMPITT PAPER CO	23.87	238.70	
	N	INC	·			CENTRAL NATIONAL	46.00	460.00	
						GOTTESMAN INC			
	Υ					*WESTERN BRW PAPER COMPANY INC			
36	N	1NL	Gloss Text, 25 x 38 80#	40	cs	CENTRAL NATIONAL	45.00	1,800.00	
	Υ					GOTTESMAN INC CLAMPITT PAPER CO	57.40	2,296.00	
	Y					*WESTERN BRW PAPER	371.10	2,230.00	
						COMPANY INC			
37			Digital Gloss Cover, 8 ½ x 11 80#	80	CS	CLAMPITT PAPER CO	61.64	4,931.20	
	N					CENTRAL NATIONAL GOTTESMAN INC	73.00	5,840.00	
38	Υ		Mohawk Carnival Vellum, 65lb Cover, 23" x 35", Various Colors	2	CS	CLAMPITT PAPER CO	622.44	1,244.88	
39	Υ		Mohawk Carnival Vellum, 80lb Cover,8 1/2 x 11	5	CS	CLAMPITT PAPER CO	294.06	1,470.30	
			Various colors						
40	Υ		2-part, 11 x 17	2	CS	*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	167.11	334.22	
41			3-part, 11 x 17	2	CS	*WESTERN BRW PAPER			
						COMPANY INC	100.65	2== 22	
	N		C 0 V 11		cc	CLAMPITT PAPER CO	188.66	377.32	
42	Υ		6-part, 8 ½ x 11	2	CS	*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	478.00	956.00	
43			5-part, 8 ½ x 11	2	CS	*WESTERN BRW PAPER			
						COMPANY INC	207.02	44.00	
44	N		2		cc	CLAMPITT PAPER CO	207.03	414.06	
44	Υ		2-part, 8 ½ x 14		CS	*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	213.90	427.80	
45	N	4BV	3-part, 8 ½ x 11	2	CS	ODP BUSINESS SOLUTIONS LLC	141.63	283.26	60.00
	Υ					*WESTERN BRW PAPER			
						COMPANY INC CLAMPITT PAPER CO	188.67	377.34	
46	N	4BV	4-part, 8 ½ x 11	2	CS	ODP BUSINESS	152.78	305.56	60.00
	IN	460	4-pail, 0 /2 X II			SOLUTIONS LLC	132.70	303.30	00.00
	Υ	·				*WESTERN BRW PAPER			
						COMPANY INC			
	N		22 . 2.16			CLAMPITT PAPER CO	201.64	403.28	
47	Υ		2 Part 8 1/2 x 11	40	CS	*WESTERN BRW PAPER COMPANY INC			
	N					ODP BUSINESS	130.87	5,234.80	60.00
						SOLUTIONS LLC	167.12	6 694 90	
	N	4DV	#10 Window Envelope	100	CS	CLAMPITT PAPER CO ODP BUSINESS	167.12	6,684.80 1,027.00	60.00
55	IN	4BV	#10 Millinom Flinelobe	100		SOLUTIONS LLC	10.27	1,027.00	00.00
	Υ					*WESTERN BRW PAPER			
	'					COMPANY INC			
	N					CLAMPITT PAPER CO	92.04	9,204.00	
	N					CENTRAL NATIONAL GOTTESMAN INC	108.00	10,800.00	
56	Υ		#9 Security Window Envelope	5	CS	*WESTERN BRW PAPER			
						COMPANY INC			
	N		Catalan annul C O D C		cc	CLAMPITT PAPER CO	97.13	485.65	
57	N	4MO	Catalog envelope, 6 x 9, Brown Kraft #28	20	CS	ODP BUSINESS SOLUTIONS LLC	7.96	159.20	60.00
	Υ					*WESTERN BRW PAPER			
	N.					COMPANY INC CENTRAL NATIONAL	47.00	940.00	
	N					GOTTESMAN INC	47.00	540.00	
	N					CLAMPITT PAPER CO	74.72	1,494.40	
58	N	4MO	Catalog Envelopes, 10 x 13, White	120	cs	ODP BUSINESS SOLUTIONS LLC	5.39	646.80	60.00
	Υ					*WESTERN BRW PAPER			
	1					COMPANY INC			
						CENTRAL NATIONAL		7,920.00	

	N					CLAMPITT PAPER CO	66.46	7,975.20			
59		4MO	#9 Window Envelope, White 24#	2	CS	ODP BUSINESS	9.34	18.68	60.00		
						SOLUTIONS LLC					
	Υ					*WESTERN BRW PAPER					
	NI.					COMPANY INC CLAMPITT PAPER CO	99.51	199.02			
60	N	4MO	Catalog Envelope, 10 x 13, Brown Kraft 28#	10	CS	ODP BUSINESS	5.99	59.90	60.0		
	IN	41010				SOLUTIONS LLC					
	Υ					*WESTERN BRW PAPER COMPANY INC					
	N					CLAMPITT PAPER CO	76.31	763.10			
61	N	4MO	Catalog Envelope, 9 x 12	2	CS	ODP BUSINESS	6.01	12.02	60.0		
	Υ					SOLUTIONS LLC CLAMPITT PAPER CO	53.97	107.94			
	'										
62	N	4MO	#10 Simple Seal Window Envelope, Blue Inside Tint	10	CS	ODP BUSINESS	8.73	87.30	60.0		
						SOLUTIONS LLC					
	Υ					*WESTERN BRW PAPER COMPANY INC					
	N					CLAMPITT PAPER CO	175.25	1,752.50			
63	N	4MO	A-2 Envelope, 4 3/8 x 5 3/4, Accent Opaque, White, Smooth	2	CS	ODP BUSINESS SOLUTIONS LLC	1.45	2.90	60.0		
	Υ		SHOOTH			CLAMPITT PAPER CO	53.66	107.32			
	ľ										
64	Υ		No. 7 Envelope, 3 1/2 x 6 1/2, Coin Envelope w/out	2	CS	ODP BUSINESS	8.76	17.52	60.0		
			Clasp, Manilla			SOLUTIONS LLC	01.51	452.00			
65			A-8 Envelopes, 60lb, Various Colors	2	CS	CLAMPITT PAPER CO ODP BUSINESS	81.51 103.78	163.02 207.56	60.0		
	N					SOLUTIONS LLC	105.78	207.36	60.0		
66	N	4MO F	A-9 Envelopes, 60lb, Various Colors	2	CS	ODP BUSINESS	1.85	3.70	60.0		
	Υ					SOLUTIONS LLC CLAMPITT PAPER CO	84.43	168.86			
67	Υ		Bank Tab, set of 5 tabs, 9 x 11, White index 1/5 cut	2	CS	CLAMPITT PAPER CO	71.84	143.68			
			reverse collated, No milar/no hole tabs			*CAPE EQUIPMENT &					
	N					SERVICES LLC					
68	N 4MO	Micro Perferated Paper, 3 2/3 from bottom, 8 ½ x 11, White	2	CS	ODP BUSINESS	35.70	71.40	60.0			
		White			SOLUTIONS LLC						
	v				CLAMPITT PAPER CO	52.28	104.56				
	Υ					CLAWITTTTALLICO	32.20	104.50			
69	Υ		Scoreline Blank, Uncoated, Label, White	20	CS	CLAMPITT PAPER CO	165.71	3,314.20			
	ľ							·			
	N					*WESTERN BRW PAPER COMPANY INC					
	N					CENTRAL NATIONAL	300.00	6,000.00			
70	.,		Deer Hangers 9.1/ v.11 Hets Astrobrites or Brite Hue		PK	GOTTESMAN INC CLAMPITT PAPER CO	40.90	91.60			
70	Υ		Door Hangers, 8 ½ x 11, Hots, Astrobrites, or Brite Hue	2	PK	CLAIVIPITT PAPER CO	40.80	81.60			
71	Υ		Chip Board, 23 x 35	5	BX	*WESTERN BRW PAPER					
	N					COMPANY INC CLAMPITT PAPER CO	41.11	205.55			
	N							*CAPE EQUIPMENT &			
						SERVICES LLC					
72			Index, Green, 22.5 x 28.5	10	CS	CLAMPITT PAPER CO CENTRAL NATIONAL	157.38	1,573.80			
	N					GOTTESMAN INC	183.00	1,830.00			
73	Υ		Index, Canary, 22.5 x 28.5	10	CS	CENTRAL NATIONAL	183.00	1,830.00			
	N					GOTTESMAN INC CLAMPITT PAPER CO	228.55	2,285.50			
74			Index, 9 x 11 (tab stock)	2	CS	*WESTERN BRW PAPER					
	·					COMPANY INC	00.70				
	N		Manilla Tag. 23 F.: 20 F		CC	CLAMPITT PAPER CO	99.70	199.40			
75	Y		Manilla Tag, 22.5 x 28.5	2	cs	*WESTERN BRW PAPER COMPANY INC					
	N					CLAMPITT PAPER CO	173.54	347.08			
76	N		Business Card Boxes, 500 Card Quantity	10	CS	CLAMPITT PAPER CO	176.88	1,768.80			
77	N		Letter Head Boxes, 500 Sheet Quantity	2	CS	CLAMPITT PAPER CO	82.36	164.72			

78	N	4MO	Laser Label, 3 1/2 Circle, White	5	cs	ODP BUSINESS SOLUTIONS LLC	59.72	298.60	60.00
	Υ					CLAMPITT PAPER CO	208.06	1,040.30	
79	Υ		Mohawk Carnival Vellum, 80lb Cover, 26" x 40", New Black	10	CS	CENTRAL NATIONAL GOTTESMAN INC	625.00	6,250.00	
	N					CLAMPITT PAPER CO	870.91	8,709.10	
80		4MO	A-7 envelope 60# Accent Opaque White Smooth	50	CS	ODP BUSINESS SOLUTIONS LLC WESTERN BRW PAPER COMPANY INC	8.66	433.00	60.00
	N N					CLAMPITT PAPER CO CENTRAL NATIONAL	70.00	3,056.50 3,500.00	
82	Υ		Tyvek, White, 18#, 25x38	50	CS	GOTTESMAN INC CENTRAL NATIONAL	980.00	49,000.00	
83	V		Classic Linen Cover, Gold Pearl, 80#, 8.5 x 11	50	CS	GOTTESMAN INC CLAMPITT PAPER CO	300.57	15,028.50	
85	*		Cougar Opaque Vellum, Natural, 70#, A-2		CS	*WESTERN BRW PAPER COMPANY INC		,	
	N					CENTRAL NATIONAL	61.00	3,050.00	
86	N	4MO	Booklet Envelopes, White 24#, 6x9	50	CS	GOTTESMAN INC ODP BUSINESS SOLUTIONS LLC	8.54	427.00	60.00
	Υ					*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	26.15	1,307.50	
	N					CENTRAL NATIONAL GOTTESMAN INC	28.00	1,400.00	
87	Υ		Door Hangers, Blue, 67#, 8.5 x 11	50	CS	CLAMPITT PAPER CO	25.66	1,283.00	
88	Υ		Door Hangers, White, 67#, 8.5 x 11	50	CS	CLAMPITT PAPER CO	25.66	1,283.00	
89	-		Finch Opaque Envelopes, Bright White 70#, 4 Baronial		CS	CLAMPITT PAPER CO	139.00	6,950.00	
90		1NL	Domtar-Cougar Cover 100# white 26 x 40 sheets	50	CS	*WESTERN BRW PAPER COMPANY INC	204.64	10.333.00	
91	Y	4 8 11	Domtar-Cougar Cover 80# white 26x40 sheets	50	CS	*WESTERN BRW PAPER	204.64	10,232.00	
	N	1NL	bointal-cougar cover dow write 20x40 sheets	30	63	COMPANY INC			
	Υ					CLAMPITT PAPER CO	204.64	10,232.00	
						CENTRAL NATIONAL GOTTESMAN INC	235.00	11,750.00	
92	Υ	′	Matte 100# Cover, white 26x40 sheets	50	CS	CENTRAL NATIONAL GOTTESMAN INC	48.00	2,400.00	
						CLAMPITT PAPER CO	75.30	3,765.00	
						*WESTERN BRW PAPER COMPANY INC			
93	N	1NL	Matte 100# Cover, white 12x18 sheets	50	CS	CLAMPITT PAPER CO	28.05	1,402.50	
	N					CENTRAL NATIONAL GOTTESMAN INC	54.50	2,725.00	
	Υ					*WESTERN BRW PAPER			
94	Υ		Satin/Matte 70# Text, white 25x38 sheets	50	CS	COMPANY INC CENTRAL NATIONAL	40.00	2,000.00	
	•					GOTTESMAN INC	54.00	2.554.50	
	N					*WESTERN BRW PAPER	51.03	2,551.50	
	N					COMPANY INC			
95	N	4BV	A-6 Envelope 4 3/4x6 1/2 Accent Opaque 60# White Smooth	50	CS	*WESTERN BRW PAPER COMPANY INC			
	Υ		Sillouin			CLAMPITT PAPER CO	45.66	2,283.00	
	N					CENTRAL NATIONAL	56.60	2,830.00	
	N					ODP BUSINESS SOLUTIONS LLC	74.89	3,744.50	60.00
96	Υ		Business Card boxes, 250 Quantity	250	CS	CLAMPITT PAPER CO	164.72	41,180.00	
99	Υ		Accent Opaque 80# Cover white smooth 8.5x11	50	CS	*WESTERN BRW PAPER COMPANY INC			
	N					CLAMPITT PAPER CO	73.30	3,665.00	
	N		#40 Face Land		CC	GOTTESMAN INC	86.00	4,300.00	
100	Y N		#10 Envelopes, Astrobrights, Various colors 60#	50	CS	*WESTERN BRW PAPER COMPANY INC CLAMPITT PAPER CO	176.78	8,839.00	

	N					CENTRAL NATIONAL GOTTESMAN INC	200.50	10,025.00	
101	N	4BV	#9 Regular Envelope 24#	50	cs	ODP BUSINESS SOLUTIONS LLC	8.51	425.50	60.00
	Υ					*WESTERN BRW PAPER			
	N					COMPANY INC CLAMPITT PAPER CO	83.89	4,194.50	
	N					CENTRAL NATIONAL	95.00	4,750.00	
102	N	4BV	#10 Regular Envelope 24#	50	BD	GOTTESMAN INC ODP BUSINESS	7.54	377.00	60.00
						*WESTERN BRW PAPER			
	Υ					COMPANY INC			
	N					CLAMPITT PAPER CO CENTRAL NATIONAL	95.00	4,194.50 4,750.00	
	N					GOTTESMAN INC	95.00	4,750.00	
103	N	4BV	Catalog Envelope White 24# 6x9	50	BD	ODP BUSINESS SOLUTIONS LLC	8.54	427.00	60.00
	Υ					*WESTERN BRW PAPER			
	N					COMPANY INC CLAMPITT PAPER CO	31.07	1,553.50	
	N					CENTRAL NATIONAL	33.00	1,650.00	
104	Υ		Astrobright, Catalog, 9x12, yellow	50	cs	GOTTESMAN INC *WESTERN BRW PAPER			
	-					COMPANY INC	390.10	10 455 00	
	N N					CLAMPITT PAPER CO CENTRAL NATIONAL	389.10 442.00	19,455.00 22,100.00	
						GOTTESMAN INC		/	
105	Υ		Catalog Envelope, 9x12 Astrobrights, Various Colors	50	cs	*WESTERN BRW PAPER COMPANY INC			
	N			5		CLAMPITT PAPER CO	389.10	19,455.00	
	N					GOTTESMAN INC	442.00	22,100.00	
106	Υ		12" Plastic Coils 6mm		вх	*CAPE EQUIPMENT &			
	N					SERVICES LLC CLAMPITT PAPER CO	7.78	38.90	
107			12" PLASTIC COILS 7mm	5	вх	*CAPE EQUIPMENT &	6.79	33.95	5.00
	N					SERVICES LLC CLAMPITT PAPER CO	10.52	52.60	
108			12" PLASTIC COILS 8mm 12" Plastic Coils 9mm	5	BX	*CAPE EQUIPMENT &			
	N			5		SERVICES LLC CLAMPITT PAPER CO	15.27	76.35	
109					BX	*CAPE EQUIPMENT &			
	N					SERVICES LLC CLAMPITT PAPER CO	17.99	89.95	
110			12" Plastic Coils 20mm	5	BX	*CAPE EQUIPMENT &	25.58	127.90	5.00
	N					SERVICES LLC CLAMPITT PAPER CO	30.06	150.30	
111			12" Plastic Coils 30mm	5	BX	*CAPE EQUIPMENT &	48.27	241.35	5.00
						SERVICES LLC CLAMPITT PAPER CO	49.45	247.25	
112	N Y		Powis Parker Super Strips 11" Narrow	3	BX	*CAPE EQUIPMENT &	45.45	247.25	
	•		Paulis Parker Cuper String 11" Medium	1	BX	SERVICES LLC *CAPE EQUIPMENT &			
113	Υ		Powis Parker Super Strips 11" Medium			SERVICES LLC			
114	Υ		Powis Parker Super Strips 11" Wide	3	BX	*CAPE EQUIPMENT & SERVICES LLC			
115	Υ		Heavy Clear Covers 8 1/2" 10 Mil Square Corner	3	вх	*CAPE EQUIPMENT &			
	N					SERVICES LLC CLAMPITT PAPER CO	31.75	95.25	
116	Υ	,	Loose Leaf Binder Rings 5/8"	3	вх	*CAPE EQUIPMENT &			
117	N	4MO	Loose Leaf Binder Rings 3/4"	3	BX	SERVICES LLC ODP BUSINESS	14.52	43.56	60.00
						*CAPE EQUIPMENT &			
	Υ					SERVICES LLC			
118	NI .	4MO	Loose Leaf Binder Rings 1")	BX	ODP BUSINESS	3.18	9.54	60.00
		41010	Cook cear brider Miles 1	3	SA.	SOLUTIONS LLC	5.10	5.54	30.00
	Υ					*CAPE EQUIPMENT & SERVICES LLC			
119	N	4MO	Loose Leaf Binder Rings 1.5"	3	ВХ	ODP BUSINESS SOLUTIONS LLC	11.84	35.52	60.00
	Υ					*CAPE EQUIPMENT &			
						SERVICES LLC			

120	N	4MO	Loose Leaf Binder Rings 2"	3	BX	ODP BUSINESS	1.49	4.47	60.00
						SOLUTIONS LLC			
	Υ					*CAPE EQUIPMENT &			
	'					SERVICES LLC			
12:	Ιγ		Trulam Laminate Adhesive In Clear Glossy 1.5 mil 25" x	3	BX	*CAPE EQUIPMENT &			
	1		500' x1"			SERVICES LLC			
123	2 N	4MO	Avery Round Labels 8.5 x 11 sheets 2 1/2" (5294)	100	BX	ODP BUSINESS	6.61	661.00	60.00
	'					SOLUTIONS LLC			
	Υ					CLAMPITT PAPER CO	20.81	2,081.00	
123	γ		Avery Round Labels 8.5 x 11 sheets 3" (94513)	100	BX	CLAMPITT PAPER CO	20.81	2,081.00	
	N					ODP BUSINESS	23.99	2,399.00	60.00
	1					SOLUTIONS LLC		,	
124	l V		Avery Round Labels 8.5 x 11 sheets 2" (94501)	100	ВХ	CLAMPITT PAPER CO	20.81	2,081.00	
	'								
	N					ODP BUSINESS	25.28	2,528.00	60.00
	IN					SOLUTIONS LLC	25.20	2,320.00	00.00
12	v		Color Plan Cover 100# 25x38 Vellum Scarlet	100	BX	CLAMPITT PAPER CO	257.20	25,720.00	
				100				-	
120	PΥ		Construction Cover 100# 26x40 Paver Red Smooth	100	ВХ	CLAMPITT PAPER CO	478.93	47,893.00	
	N					CENTRAL NATIONAL	645.00	64,500.00	
						GOTTESMAN INC			
12	N N	4MO	Index Various Colors 110# 8 1/2 x 11	3	BX	ODP BUSINESS	7.70	23.10	60.00
						SOLUTIONS LLC			
	Υ					*WESTERN BRW PAPER			
						COMPANY INC			
	N					CLAMPITT PAPER CO	78.68	236.04	